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32nd IKMC 2022 (Class 5 & 6)
SECTION ONE - (3 point problems)

Phan mét — Méi cau trd 161 ditng dwge 3 diém 1 5
1. Six points are numbered as shown. %0 o4
Sdu diém dwoc danh s6 nhw hinh vé. 6 :

Kirsten draws two triangles, one by joining the even numbered points and one by
joining the odd numbered points, and colours the inside of one of the triangles red and
the inside of the other green. Which of the five options shows the picture Kirsten
draws?

Kirsten vé hai hinh tam giac, mét hinh bang céch néi cdc diém danh sé chan va mét bang cach noi
cdc diém danh s6 16, roi td mau mgt tam giac mau do va tam giac kia mau xanh. Hinh ndo sau ddy
¢6 thé 1a hinh ma Kirsten da vé?

A &
R AN ¢

2. Eileen rowed around five buoys, as shown. @

Eileen chéo thuyén quanh nim chiéc phao nhw trong hinh.

Which buoys did Eileen row around in an anticlockwise direction? ¢ /\\J>
. ~ \ ~ = X < ’ = A . A @)

Eileen da chéo quanh nhirng chiéc phao nao theo huwdng nguoc chiéu kim dong
ho?

(A)land4 (1va4) (B)2,3and5(2,3vab)
(C)2and3(2va3d) (D)1,4and5(1,4vab)
(E) 1and 3 (1va3)
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3. Laser beams reflect in mirrors in the way shown in the picture. At which letter will
this laser beam end?

Mgt chum tia laze phdan chiéu trong girong nhw trong hinh. Tia laser nay sé di dén chiz
cai nao?

(A)A (B)B (C)C (D)D (E)E

[raieir i uismiiael 1
s icaninsnaiio T}

Y I s
A B C

4. Cistercian numerals were used in the early thirteenth century. Any integer from 1 to
99 can be represented by a single glyph formed by combining two of the glyphs shown
below.

Chit s6 Xité dwot sir dung vao dau thé ky 13. Tat ca cac sé nguyén tir 1 dén 99 déu co
thé duroc biéu dién bang mét ki hiéu duy nhdr dwroc hinh thanh bang cach két hop hai

trong sé cac ki hiéu duwoc hién thi bén duroi. I
rrrrrrrT

J

The glyph for 24 looks like —r,the glyph for 81 —l _| /] \1 ‘1 I| I-| L| q

10 20 30 40 50 60 70 80 90

looks like LI_ and the glyph for 93 looks like E[\
What does the glyph for 45 look like?

Ki hiéu biéu dién sé 24 1a —r so 81 1 LI_ va 93 la E[\ Hai ki hiéu nao biéu dién
cho s¢ 45?

(V) T (B) \”7 © rr (@) \r (E) \L
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5. Marbles are sold in packages of 5, 10 or 25. Tom buys exactly 95 marbles. What is
the minimum number of packages he could buy?

Nhitng vién bi dwoc ban theo gdi 5, 10 hogc 25. Tom muén mua diing 95 vién bi. S6
g6i tai thiéu anh ta co thé mua Ia bao nhiéu?

(A) 4 (B) 5 )7 (D) 8 (E) 10

6. ABCD is a square with side-length 10 cm. What is the area of the shaded part?

ABCD la hinh vubng c6 cenh 10 cm. Dién tich phdn t0 dam la bao nhiéu?

(A) 40 cm? (B) 45 cm? (C) 50 cm? A
(D) 55 cm? (E) 60 cm?
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7. In the garage shown in the picture, vehicles can only move forward or backward but
cannot turn. What is the smallest number of vehicles that have to move for the black
car to be able to exit the garage?

Trong gara nhir hinh Vé, C&c xe chi duwoc tién hodc 10i chit khdng dwoce quay dau. Hoi
so xe phdi di chuyén it nhdt la bao nhiéu dé chiéc 6 té den cé thé ra khéi gara?

(A) 2 (B)3 (C)4 (D) 5 (E) 6

8. Giulia has one long string of spaghetti she needs to make smaller. Every time she
breaks one piece of spaghetti, it becomes three pieces as shown in the picture. Which
of the following numbers of pieces could she not get?

Giulia c6 mét sei mi spaghetti rat dai ma ban dy can nhiing sei ngan hon. Méi lan bé
mét sei mi thi nd sé thanh ba doan nhuw trong hinh. Héi ban dy khéng thé c6 sé sei ndo
sau day?

(A) 13 (B) 17 (C) 20 (D) 23 (E) 25 ¢

Z N
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9. Bodil rearranges the 7 pieces shown to get the smallest possible 12 digit number.

Bodil sdp xép lai 7 manh gidy c6 ghi cac sé sau dé tao ra sé nhé nhdt c6 12 chi sé.

4|1 69| [113] |9 [d81] (5] (67

What are the last 3 digits of this number?
3 chat s6 cudi cua so dé 1a:

(A) 699 (B) 113 (C) 551 (D) 967 (E) 459

10. Which of the following fractions of a whole turn should the
Ferris wheel turn to bring a white pod to the top?

Chiéc du quay phdi quay bao nhiéu vong dé cé thé dwa mét buong
mau trang Ién v; tri cao nhat?

1 1 1
A 5 B) 5 © <
1 5
© OF
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SECTION TWO - (4 point problems)

Phan hai — Méi cau tra loi ditng dwoc 4 diém

11. Five big elephants and four small ones are walking along a path, as shown.

Nam con voi 160 va bon con voi nhé dang di trén mét con dweong nhw trong hinh.

When they reach the junction, each elephant turns either to the left or to the right.
Which of the following cannot be the situation after they all pass the junction?

8

{

Khi d@én ngd ba, méi con voi ré sang trai hodc sang phdi. Diéu ndo sau day khéng thé

xay ra sau khi tat ca déu di qua nga ba?

12. Clara starts with 12 and follows the arrows using the rules shown in the picture on

the left. What number will she finish with?

Clara bat dau véi sé 12 va di theo cdc miii tén nhw quy tdc trong hinh bén tréi. Cudi
cung ban dy sé thu dwot sé Nao?

(A)3  (B)6

CodeMath.vn

(C) 12

(D) 24

(E) 48

7~

{ Rule }

N
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13. Masoud and his friends built the number 2022 with 66 cubes, as shown in the
picture. They painted the whole surface of the structure yellow. How many of the cubes
have exactly 4 faces painted?

Masoud va cac ban ghép mét sé 2022 bang 66 khoi ldp phwong nhu trong hinh réi son
tdt ca c&c mat mau vang. Hai c6 bao nhiéu khéi ldp phuong dwoc son 4 mat?

(A) 16 (B) 30 (C) 46 (D) 54 (E) 60 1] | 1] (1T
[

Bjja) fm{s 119 1Y

» =L =TT S

(] =]

14. A rectangular-based water tank has dimensions Imx2mx4m. It contains water to a
depth of 25 cm, as shown in the left-hand picture. The tank is turned so that a Imx2m
face becomes the base, as shown in the right-hand picture. What is the depth of the
water now?

Mot thung nuoc hinh chiz nhdt cé kich thuéc Imx2mx4m chiza nuwoc. Muc nuwoc cao
25 cm nhu trong hinh bén trdi. Sau do thung dwoC quay sao cho mat Imx2m trg thanh
day, nhuw minh hoa trong hinh bén phai. Héi muc nuéc luc nay la bao nhiéu?

(A)25cm (B)50cm (C) 75cm
(D)1m  (E)1.25m

4m

Pl
1m
/’ 4 vox 2m 1m 2m

25 ¢
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15. The picture shows a piece of transparent paper with a design drawn on it. The paper
Is then folded twice, as shown. What would be seen on the folded paper?

Trong hinh 1& mgt manh gidy trong suét c6 Vé hinh trén dé. Sau dé, to gidy dwoc gap
lai hai lan nhw minh hoa. Két qud thu dwoc 12 gi? ‘

®) ‘ (®) _— TR

© KL @) ® &

16. The area ofthe square is 100 cm?. y l

Dién tich hinh vuéng la 100 cm?. 2 |
What is the area of the shaded figure? < y 110 cm
Di¢én tich phan td mau la ‘
(A) 20 cm? (B) 25 cm? (C) 30 cm? ’ | ‘
(D) 35 cm? (E) 40 cm? 10 cm
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17. The year 2022 is a special year because the digit 2 appears three times. This is the
third time Eva the tortoise has lived through such a year with three identical digits.
What is the youngest Eva could be by the end of 2022?

Nam 2022 la nam dac biét vi chi so 2 xuat hién 3 lan. Pdy la lan thi ba rua Eva séng
qua mét nam c6 ba chiz sé giong nhau. Héi cudi nam 2022 thi ria Eva it nhdt bao
nhiéu tusi?

(A) 18 (B) 20 (C) 22 (D) 23 (E) 134

18. Andrew wants to complete the picture so that each row, each column and each set
of four circles connected by line segments contains the four numbers 1, 2, 3, and 4.
What number should he write in the circle containing the question mark?

Andrew mudn hoan thanh bezc tranh sao cho méi hang, mai cét va mai nhém bén hinh
tron ndi véi nhau bang cdc doan thang déu chira dii bon sé 1, 2, 3 va 4. Héi s6 nao can
dién vao hinh tron chiza dau cham héi?

(A)1 (B) 2 €3
(D) 4 (E) It cannot be determined (Khong xdac dinh duoc)
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19. Lisa has 4 dogs. Each of the 4 dogs weighs an integer number of kg. No two of
them weigh the same. Their total weight is 60 kg. The second heaviest dog weighs 28
kg. How heavy is the third heaviest dog?

Lisa c6 4 con chd. Mdi con cd can nang 1a mét s nguyén kg. Khdng cé hai con nao co
can ndng giong nhau. Biét tong trong lwong cua ching 1a 60 kg va con ché nang thi
hai nang 28 kg. Hoi con cho nang thir ba ngng bao nhiéu kg?

(A)2kg (B)3kg (C)4kg (D) 5kg (E) 6kg

20. Jessi writes the seven numbers 3, 4, 5, 6, 7, 8, and 9 in the circles in the picture so
that the sums of the three numbers on each line are equal. What is the largest possible
sum of three numbers on a line that Jessi can get?

Jessi viét bay sé 3, 4, 5, 6, 7, 8 va 9 vao cac hinh tron trong hinh sao cho téng cia ba
sé trén mai nhanh bang nhau. Tang Ién nhdt c6 thé ¢ cuia ba sé trén mét nhanh 1a bao
nhiéu?

(A)28  (B)18 (C)22  (D)16  (E)20

10
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SECTION THREE - (5 point problems)

Phdn ba — Méi cau trd 107 diing dwoc 5 diém

21. Some glasses are stacked on top ofeach other. A stack of8 glasses is 42 cm high
and a stack of 2 glasses is 18 cm high. How high is a stack of 6 glasses?

Mgt sé chiéc Iy dwroc xép chong 18n nhau. Biét mét chong 8 ly cao 42 cm va mét chong
2 ly cao 18 cm. Héi mét chong 6 ly cao bao nhiéu?

(A) 22 cm
(B) 24cm
(C) 28 cm
(D) 34cm
(E) 40 cm

22. In the picture below, each animal represents a positive integer and different animals
represent different integers. The sum ofthe two integers in each column is written
below that column. What is the largest possible sum ofthe four integers in the first row?

Trong hinh dwéi ddy, méi con vdt dai dién cho mét s6 nguyén dwong va cdc con vit
khéc nhau dai dién cho cac sé khac nhau. Téng cua hai s6 ¢ mdi cér diroc viét bén
dudi cot do. Hoi tong 16n nhdt ¢ thé cb cia bon sé ¢ hang dau tién 1a bao nhiéu?

(A) 18 (B) 19 (C) 20 N m ”
D21 (B)22 Y| oo
7

16 11 3

11
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23. To unlock this lock, you get the following four hints.

C6 4 goi y dé pha gidi mdt ma mg chiéc khéa nhw sau:

D) D

One of these digits One of these digits Two of these digits All of these digits
Is correct and in the is correct but in the are correct butinthe are incorrect.
right place. wrong place. wrong place.

=1 ] G =] =] [=] == ] =]
E-E-E E--E E-E-E
= = = (=] (82 (5] LA [12] (=

COmét chirso diing COmgtchirsé diing CO hai chi sé diing Tat cd cac chir so
va dung vi tri. nhung sai vi tri. nhung sai vi tri. déu sai.

What is the correct code for the lock?
Mdt md dé mo khoa 1a gi?

(A) 604 (B) 082

(C)640 (D) 042

(E) 046

24. Anna has the shape shown on the right.

Anna co hinh nhu sau:
Which of the following shapes is the same as Anna's?

Hinh nao sau ddy giong véi hinh cia Anna?

@ ﬁ ®) % © % D) % (E) %

12
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25. Werner chooses four of the numbers 2, 3, 4, 5 and 6 and writes one in each box so
that the calculation is correct. How many of the five numbers could Werner write in
the shaded box?

Werner chon bén sé trong céc sé 2, 3, 4, 5 va 6 va viét mét s6 vao mai 6 dé co phép
tinh diing. Hoi ¢6 bao nhiéu cdch dé viét sé vao 6 td mau?

(A) 1 (B) 2 (C) 3 s -

(D) 4 (E)5

26. The numbers 3, 4, 5, 6 and 7 are to be placed in the five circles below so that the
number inside each triangle is the product ofthe three numbers on its vertices.

C4c $6 3, 4, 5, 6 va 7 dwoc ddt vao nam hinh tron bén dwdi sao cho sé bén trong mai
tam giac |2 tich cua ba sé trén cdc dinh cia no.

What is the sum of the three numbers on the vertices of the coloured
triangle? 105

Tong cua ba sé trén cdc dinh ciia tam gidc dwoc td mau 1a bao nhiéu? .

(A) 12 (B) 14 (C) 15 (D) 17 (E) 18

210

13
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- - into the solia [=[=F
27. Which of the following nets cannotbe folded into the solid 7

P id s

o , s st |
Hinh nao sau déy khong thé gap lai thanh khdi hinh =7,
=
11 b I L -l-]
| | | o Ill'l-]'i--— i1
) @® W = © ==
(T == 174-:1
o U ® WO

28. The four villages A, B, C and D lie along a road in that order. The distance between
neighbouring villages is 10 km. There are 10 students who live in village A, 20 students
who live in village B, 30 students who live in village C and 40 students who live in
village D. The villagers want to build a school so that the total distance travelled by
the students when going to school is as small as possible. Where should they build the

school?
Bon lang A, B, C va D theo thi tir nam doc theo mér con dwong. Khoang cach giia
cac lang 1an cdn 1a 10 km. C6 10 hoc sinh séng ¢ lang A, 20 hoc sinh séng ¢ lang B,
30 hoc sinh séng ¢ lang C va 40 hoc sinh séng ¢ lang D. Dan lang muén xay mét ngoi
trirong sao cho tong qudng dwong cac hoc sinh di dén trwong ngan nhat cé thé. Ho
nén xdy truong hoc o dau?

(A)inA(tgiA) (B)inB(teiB) (C)inC (tai C)
(D) inD (tgi D)  (E) in the middle between B and C (giiza B va C)

14
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29. The three pictures show a structure made from cubes as seen from the top, from the
front and from the right. What is the maximum number of cubes that could have been
used to build the structure?

Trong hinh I& hinh anh mét hinh khai khi nhin ti trén xuong, tir phia trudc va tir bén
phdi. Sé khéi ldp phwong t6i da cé thé dwoc sir dung dé ghép thanh hinh khéi 1a bao
nhieu? top front

(A) 18 (B) 19 (C) 20

right

(D) 21 (E) 22 l [ | |

30. 30 people are sitting round a circular table. Some of them are wearing a hat. Those
who do wear a hat always tell the truth while those who do not wear a hat can either
lie or tell the truth. Each person says “At least one of my two neighbours is not wearing
a hat.” What is the largest number of people who could be wearing a hat?

30 nguoi dang ngoi quanh mét chiéc ban tron. Mét so nguoi trong dé doi mii. Nhimng
nguoi doi mii luén néi that trong khi nhitng nguwoi khéng déi mii c6 thé néi déi hodc
noi that. Tdt ca moi nguwoi déu néi “Trong hai nguoi ngoi canh toi ¢d it nhdt mét nguo
khéng déi mii”. Hoi $6 nguoi déi mii nhiéu nhat 1a bao nhiéu?

(A)5 (B) 10 (C) 15 (D) 20 (E) 25

15
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